Point monotonicity test

Second method


[image: image1.wmf](

)

(

)

(

)

å

=

-

¶

¶

¶

+

¶

¶

=

¶

¶

m

1

k

0

k

k

k

j

0

m

0

1

x

2

j

0

m

0

1

x

j

m

1

x

h

h

h

h

h

,...,

h

u

h

)

h

,...,

h

(

u

h

h

,...,

h

u

(


If


[image: image2.wmf](

)

const

h

h

,...,

h

u

sign

j

m

1

x

=

÷

÷

ø

ö

ç

ç

è

æ

¶

¶

±

±

(


then


[image: image3.wmf](

)

(

)

[

]

Æ

=

Ç

þ

ý

ü

î

í

ì

=

¶

¶

h

0

h

h

,...,

h

u

:

h

,...,

h

j

m

1

x

m

1

(


i.e.    
[image: image4.wmf](

)

const

h

h

,...,

h

u

sign

j

m

1

x

=

÷

÷

ø

ö

ç

ç

è

æ

¶

¶

(

   for   
[image: image5.wmf][

]

i

i

h

h

Î

 i=1,…,m

and function 
[image: image6.wmf](

)

0

m

0

1

j

j

0

1

j

0

1

x

h

,...,

h

,

h

,

h

,...,

h

u

+

-

 is monotone in the interval 


[image: image7.wmf]]

h

[

j

 where 
[image: image8.wmf][

]

i

0

i

h

h

Î

 i=1,…,m and i
[image: image9.wmf]¹

j.

_1029316265.unknown

_1029316267.unknown

_1029316269.unknown

_1029316270.unknown

_1029316268.unknown

_1029316266.unknown

_1029316263.unknown

_1029316264.unknown

_1029316262.unknown

